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Cpib : 3 et | | [ Qurgs wﬁﬁ@ue&ﬁra;df : 150

Time Allowed : 3 Hours ] [Maximum Marks : 150
fleyenr : (1) omasg damssernd sflurs ueurd 2 arersT eTeTLgMmEN

Fhlurisgs Camearereyd. HFHLLSND GapuilmUulber iemns
savaremLureTilib 2 L anquwinss GQgfelssean.

(2) Beb oog spuy ewulmer LLHGCWL aWaUsDEL
vweTu(Rss Cauar®bd. ULm&sHE aumrausn@ Gueardled
LweaTU(HSSe]b.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pencil to draw diagrams.

u@S - 1/PART - 1

@O = ()  Smangg elamrasEnsEn el weilssaL. 30x1=30

Note

(i) esflwrer eflenLanw CaTHOsHSS 6T (SIS,

g (i)  All the questions are to be answered.
(i) Choose and write the correct answer.

-

L ETEGD Quiiguid wpleaLsear amasslu@n Curg, wse perm
BrisEnd@ urroflssiul. Ceuargw Geuliublene :

(=1) 30° Q& . (=) 28° Q&

(@) 33° Q& () 32° Q&

The optimum temperature of the artificial brooder during the first three days is :
(a) 30°C (b) 28°C

(c) 33°C (d) 32°C
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2. @ousdeamrd pporarge Anbs WHSGE 2 @6, :

(=) a6 Sllbser (<=4) B undlser
(@) sLe Wenser (FF) &sLe @mred
Which is considered as medicinal food of 215 century ?

(a) Oysters (b) Sea weeds

() Sea fish (d) Sea prawn

3. smesai@b, soaTasalgid sramiL{D sl (& sTEsT :

(1) eoLmiréF (<) QeayGame
(@) evsliger () SenerGameen
The polysaccharide found in liver and muscle is :
«(a) starch (b) cellulose
(c) chitin (d) glycogen

4. fair wrigéer Curg swesafier 2 arer Lrssams AN&EEGD CUTmET eremen ?
(1) yCrmgCuirene ig& QBrdaer
(<) e _GLraran_flwe Qprdlser
(@) ewaGsreangd QBrHser
(/7)) erev_Cr&ev
What is the substance that destroys the muscle protein during rigor mortis ?
(a) proteolytic enzymes
(b) mitochondrial enzymes

(c) lysosome enzymes
(d) esterases

5. @UYp dneuer Crmi @Qrssdaiemer creucims CFwsar iplagre

FHuG g ?

(=1) @Qrss Haulugnsser (=) @85 GeucTaneTiigmdHeHeT
(@) @rss s-Bser () @rgs Wermeviom

Which type of cell death causes bubble boy syndrome ?

(a) red blood cells (b) white blood cells

(c) blood platelets (d) blood plasma
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6. Gswpers GuevCGuasfa 2 drar CuLLM aTssmar g amTBsdr 2 @WEss

| Salglemel :
(1) 7 - 8 ypawr(haer (<=4) 6 - 7 S, emr(H&er
(@) 5 -6 <y ear(Hser (/F) 3 -4 yaur(hser
The battery in the artificial pacemaker can last for :
(a) 7 -8 years (b) 6-7 years
(c) 5-6years (d) 3-4years

7. srdean gmsbswbysaiear Apny Care Asred QUL <iWsEssSHmen
Qasman wLkiE Hsfsdng:

(1) 5 wLmIG (=) 2.3 LLEG

(@) 3.3 LLEEG () 1.3 wLmEG

The lever system formed by the ear ossicles multiplies the force :
(a) 5 times (b) 2.3 times

(c) 3.3 times (d) 1.3 times

8. @uUUT U& erang)id umsleflwreler Lwer wrg ?
(1) erawblany sley &FSLD
(=) CaflGuren 98 emwlenu Lfibg Qsrererd
(@) eweurevsemer GlaTegyFe
(rF) wopp urseflurssaer QaTawe) g6

‘Super bugs’ are used to :
(a) clear oil spfil

(b) karyotypic gmdy
(c) killvirus
(d) kill bacteria

9. ‘B’ Geavaer @mg wpdliey Qumdeamer :

(1) er@iibL] LOgensy (=) so6ared

(@) Hlewrbi apigéa () engev 2 miLy
‘B’ cells matured in the :

(a) Bone marrow (b) Liver

(c) Lymph modes (d) Thymus

(A
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10.

11:

12.

13.

14.

4

sHELWD Gengelen erdliiy BAPla Comi <iflswrss sramuuBL IS
QUILDLY : _

(<=1) 10 - 15 Gu(BLTBIGET (<24) 40 - 50 GU(HLTRIGET

(@) 35 - 40 Gu(pLTB&ET (rF) 20 - 25 eu(HLTRIGET

Recently insulin resistant diabetes is commonly noticed in the age group of :
(@) 10 - 15 years (b) 40 - 50 years

(c) 35 -40 years (d) 20 - 25 years

m@ale (Equus) Gersdlen wpenGenriy 2 u4fl ergl ?

(=) apyCarsSfiuo (<) @Sy

(@) spos (/) <2 T&HCwITIgfl&en
What is the ancestral form of Equus ?

(a) Hyracotherium . (b) Horse

(c) Donkey (d) Archaeopteryx

> auiibfled aueTi&ss Fnlgllienal @biSemser :

(=) Qar@eur e (=) s&SHeured WBer
(@) Gaer WBen () Coaueng e
Which fish can be cultured in brackish water ?

(a) Seabass (b) Sword tail

(c) Scorpion fish (d) Angel fish

GEnHL prefldr oiPHls auarTéflen Db Betr @emid :

(=) sleom : (=) weven WBensar

(@) HCeGwr (/) eQemerum (B Wetraser
Fistes which grow to a larger size in shorter period are :

(a) ~ Catla - - (b) Catfish

(c) Tilapia (d) Sport fishes

Quemseia Hamawrear smsshuy sHUY (e WSl ?

(<21) SAahTLprTeTS SlewriqU (<) BOLUOU P GUTHSEIS®
(@) efipgl prets Hiewria Ly () <2pemie®p

The method of permanent birth control in female is :

(a) tubectomy (b) cervical cap

(c) vasectomy (d) condom



15.

16.

17.

18.

19,
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‘erflgamred &l ( Glowing coalmodel ). ereng) @safenr &rmgen

© (1) UTs ey

(=) Garply ey

(@) sriGureran Gyl jewiiy () eeul LIflemser el

‘Glowing coalmodel’ is the Computer Graphics of :

(a) Protein function
(c) Structure of carbohydrate

(b) Lipid function
(d) Vitamin function

EauheuaTeuDmieT eTgl emeurev eTdlir Qummer ?

(1) @edriteClLymes
(@) enriGomen
Which is anti viral ?

(a) Interferon

(c) Hormone

fApdl Qe usssefler yrelsb
(1) uGprmr

(@) anflwremm wHmid erGsTe
Sindhi is originated from :

(a) Baroda

(¢) Haryana and Ongole

(=) waGarenaid
() Yrsw

(b) Lysozyme
(d) Protein

(=) B7TES LHMID eapSTTUTS
(FF) W&TFTEg.Fm

(b) Karachi and Hyderabad
(d) Maharastra

Quipans 2 el Qs Hlaawuls sar Qar 2 ilfleow srGar o Gramib @arid:

(1) poe&8lng
(@) Qsewen, e

(<) penati paw(
() pemedti @mmred

In the absence of natural food this organism become cannibals :

(a) Pearl oyster
(c) Catla

(b) Scylla serrata

(d) Macrobrachium rosenbergil

CopE aumssdaiarer 2 uffeuer LrgaTUALLD erg ?

(=) spgrasan
(@) Corégrs

(=) Bogumr
() ppsT Coel

Name the biosphere reserve of West Bengal :

(a) Sundarbans
(c) Nokrak

(b) Namdapha
(d) Nanda Devi

[ Smliys / Turn over
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20. wafgaflen 2.16flev g Brafled &r&@D epenend Saur(heul SHysugdler (CSF) e

(<=1) 150 B).0 (<) 170 .60
(@) 500 1.6 (FF) 550.181.601
The rate of secretion of CSF per day in human is :

(a) 150 ml/day (b) 170 ml/day
(c) 500 ml/day (d) 550 ml/day

21. 5@@95@@0 LIy UeTUTSTD ererm Qararanasamw e CQaug blepdsse

(1) QsEese (=) erid. 9. sibewrT

(@) eSev@wen (/) LmireSlem

Who has proved that learning is an acquired character that can be inherited ?
(a) Mc Dougall (b) M.P. Sumner

(c) Weismann (d) Darwin

22. Guhmssaier HUBID bl apdley :

(<) pw by epdley () Swps ar@idy ey

(@) Qari ereybL] pdley () w&ens Qamby et wpiley
The fracture occurring in the young bones of children is called :

(a) closed fracture (b) open fracture

(¢) comminuted fracture (d) green stick fracture

23. apriCrenser @eieurm amsLLHEeTme :

(=1) BrbY sLSSs6r (=) o ewriiey cumidlgeT
(@) Caudwed gngeurser () Qawed 2 miLser
Hormones are considered as :

(a) Neuro transmitters (b) Sensory receptors
(c) Chemical messengers (d) Active organs

24, &L[Sllc.'pf}rﬂél} D_GITEIT GTEITENGEVLD :

(=) Quidlen (<=1,) Qyesfle
(&) Lwedle () SuGue
The enzyme present in salivary juice is :

(a) pepsin (b) renin

(c) ptyalin (d) lipase




25

26.

27.

28.

7

. Apugrailer “BamBib 2 flepasd” perL Qumd @b :

(=4) Querreniler &leamrenTid (=) ®Carroepee

(8) Smbrs mewmEwoser (FF) wreSglwer Galiged |
In the nephron reabsorption takes place in :

(a) Bowman’s Capsule (b) Glomerulus

(c)  Uriniferaus tubules (d) Malpighian capsule

erien Crmissrer sryemt :

(=) ursefwr () YEpens
(@) ‘QUL'_Gr;rrr GG [TEN (FF) TMV
Which of the following causes AIDS ?

(a) Bacteria (b) Fungus
(c) Retro virus (d) TMV

g5 spsmer 2 (heurs@eug) :

(1) sredlwibd () urdlasiiul L fassser
(@) Qsrevevi_gred () Gemqwib LigshigGeT
The gall stones are formed of :

(a) calcium (b) infected tissues

(c) cholesterel (d) sodium crystals

RsTUL® 2 pusd Qeluyb ul Guysduler cums :

(=) @ABHCTwr &TOT (=) 2ABAHCTWT LrSo Qi

(@) 2pHCrur Frwed () <pSHCrwur Nfef

The type of silk insect which can produce munga silk is : 5
(@) Antheraea assama (b) Antheraea paphia

(c) Antheraea rayeli (d) Antheraea ricini
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29.

30.

8

welgfe Qeublpriissigssre Grev sOULA@WUS samBigSseur :

(=) gruil Ceré (=) GegreLs edlavLit
(@) sl urevLiguyT (FF) evLmesedl

Who has developed vaccine for rabies in man ?

(a) Robert Koch (b) Joseph Lister

(c) Louis Pasteur (d) Stanley

QR @uwmﬂg Caafl srmeflwrs o prafle @ssman (pLeLsmer QO & e

(<¢) 7000 (<=4,) 2000

(@) 3000 (/) 4000

The adult Queen’s sole duty is to lay eggs

(a) up to 7000 a day (b) up to 2000 a day
(c) up to 3000 a day (d) up to 4000 a day

u@$ - 11/ PART - I

Gl : gCsmin uSleneshgl ClaTEsEHEE afenL_weaflEsEa. 1

Note : Answer any fifteen questions.

31.

32.

33.

34.

syeudlworer 2BCa SibleomigaT ETEIDTE ETEmen ? 2 STJETd Qar(.

What are essential amino acids ? Give example.

o | erenlds @HWI® (BMI) erempmed eremest ?
Define BML

HGwraflwr eremmre resien ?

What is Pneumonia ?

grmbGureadiey erempred Gremen ?

What is thrombosis ?
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35.

36.

37.

38.

39.

40,

41.

42,

43.

44,

9

TG - TN 0l&o o LIGTE Tl NuG cir LI GHT& 6T wireney ?

" What are the uses of Electro - encephalography ?

@l e et Urengulenens M.

Give the path aof the sound waves to the brain.

emanLTEenerdSlwir GTEITMTE) GTGHTEr 7

What is hyperglycemia ?

GLeTmi® Qsedeuens QUGTITLIL| GTETMTE) GTETaT ?
What is diploid cell strain culture ?

g Urgsaflern wadw ualsdr wrepey 2
What are the functions of antibody ?

2 UM sseueliwed erampmed ereman 2

Explain the term - Bio informatics,

SamigEisLer Qarflwr Crruden gl LeTLseT Wreney ?
What are the characters of Huntington’s chorea ?
Gusmisefla mﬁismg,gg,eb CTEIDTE) GTeTas ?

What is called seeding clouds ?

STEBENL_GET GTeUaUT) USILGSSILOETneT ?

How are cattles classified ?

Clauaflullens seriy QerlQumssid CTGIMTE) GTesmer ?
What is out breeding ?
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45, ULOO y&d auariinghsrar &AW Wte| eLikisamars Fo 5.

Mention the important research centres of sericulture in India. .

46. WG gsmen Camrys - v &CGmrorCearmSL_ L i - elsSuired smmis.

What are the differences between stethoscope and spygmomanometer ?

7. @@ UL PUYEAGer A iur -@CursT Hevwsaar CaumuPsgis.

Differentiate silkworm'’s pupa stage from Imago stage.

48.  @CrrwCsmb GHa GTEITDTED GTetman ?
What is chromosomal aberrations ?

9. v Gar weg swly B QUETITLIL| GTGTMTG) GTetma ?

What is composite fish culture or poly culture ?

50. @rieur 2 argmith e QUETTLIL GTemTed crema ?
What is larvivorous fish culture ?

U@&S] -1 / PART - 11

G&OLY : gCseyb I eflanTEsE@héE L Hb efenl wefl. 56 -eugy) eflarmadma;
&L_L_muions eflenLwief&sa,Lb.

Note : - Answer any seven questions including question no. 56 which is compulsory.

51. Geutré@pd Afsens) LDHl eflerdaid &ms.

Give an account of the root canal treatment.

52. pEML@@Y HMESE QsTaransaL eflaré s,
Explain the sliding-filament hypothesis.




-

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

11

Blawramuilfl Crmigs mulsef e SSHEUMDUILIEET Wraneu ?

Enumerate the adaptations of pathogenic microbes.

CeudliGummar omig Hfsmes CTEIDTE) GTENET ? g6 BTe @, LIGnTL&enar

UCELI ;
What is chemotherapy ? Write down its four characters.

PLOnuyY dessdlear ofedadr wree ?
What are the symptoms of graft Rejection ?

@Camer L @wli9anred JOUBWL elleneTeyser Wreney ?

Write down the effects of ozone depletion.

e Wflug Srey upBl GHILIY erps)s.

Write short notes on bioremediation.

BrL(& Garyll @eariiseae gCaab Qremger Laysamer eleufl.

Describe the characteristics of any two indigenous breeds of fowls.

B GLT Sjemenadi -e1 Coaienoser LOMID GOOUTHSET Wreney ?

What are the advantages and disadvantages of an auto analyser ?

peiar Quinanss Cairay Car_um geer efeur.
Describe the modern concept of Natural Selection.

sLar slereder 2 ulfwd LT smers sam).

Give an account of the bionomics of Catla catla .

2 awranédniq W ALGser UbH) fn @AY ergis.

Write short notes on edible oyster.

3346

[ $isliy& / Turn over:



3346 : 12

L@S|-1v / PART - IV

@Ol - gCaed BresE ollamssEnd® ool walldsab.  4x10=40
Note : Answer any FOUR questions. '

63. @swib Gewdumn Curg e QUMD Hapeiamen ellaTéEEs.
Explain the functioning of human heart.

64. umprensrTl® apriGuorasear LHHLD eupder GaopurGae uHOlLD @b
CBTGULS S '

Give an account on parathyroid hormones and their abnormalities.

65. e mi &pHél GHSs @ sL(Hor uUms.

Write an essay on menstrual cycle .

66. primiyeller eurpsms sPHs, Cpru 2 Husds sarew WLHHID
@l Gemenfliden efeneraysar Geinenn efleufl.
Explain the life history, Pathogenicity of Tapeworm.

67. @Germafin apenperis efersdl, ' DigaTed GHUHID BT SOLOSMETULILD Snfl.
Explain the process of cloning, state merits and demerits.

68. [pesteit LITFISTL Gmwnc&ﬁmm updl sL(HenT 6T (PsIs.
Write an essay on Fresh water management.

69. GCsafl e HU Qurmasaien LweTaEmaTs sam.
Mention the uses of Bee hive products.

70. Ser alerili9ed gifewried BeniQLpEs Garfonu wepaw edeufl.
Give a detailed account on induced breeding in fish culture.
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